From Mathematical Puzzles of Sam Loyd, Volume II  by Gardner


197.  By cutting only along the lines,

divide this polygon into two pieces that

can be fitted together to make an 8(8

square.

198.  Refer to the initial shape from the previous problem.  Cut the shape into two congruent pieces.  Transformation is allowed.

199.  The outer wheels of a cart are turning twice as fast as the inner wheels as the cart makes a very small circle.  If the distance between inner and outer wheels (along the axel) is two meters, what is the circumference of the outer circle?  

200.  A chessboard of 64 squares is made up of the largest number of different pieces that themselves are made up of the same squares (no fractions of squares allowed).  What is the largest number of different pieces that can make such a chessboard?  (All pieces made of two squares are alike, so no more than one of those can be used.  A black one-square piece differs from a white one-square piece.  Strips of three can have a white middle, which differs from one with a black middle.)  

201.  The sides of a 4 ( 4 square fell apart at the vertices and got mixed with the similarly discombobulated sides of an 8 ( 8 square, and the result, in a plane, is three congruent squares.  How?  

	202.  This 5 ( 5 mosaic can be cut into a minimum number of pieces that can be reassembled into two perfect squares.  Cutting is to be along the given lines (no diagonals, etc.)  No heads will be cut or even turned.

203.  A fishing pole was dropped into a pond and momentarily stood perfectly upright, its heavy end on the bottom and 
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the tip extended ten inches above the surface of the pond.  Then the pole fell over slowly, until its tip was at the surface of the water, 21 inches away from the spot on the surface where it once protruded vertically.  How deep is the pond? 

